| c | D | E | F G H | J | K | L | M | N o 3 Q | R | s | T |

16" C515 FLG X FLG ' 16" C515 TYTON X TYTON | 16" C515 MJ X FLG
-—14.84— - 26.69 - 14.84 }
el L i Miai i
] ‘ —(23.50 |
i 0 U $22.50—
o fhess ///@ ®\< . W
_ | A \ //@ ) UL 14/
11.75
| 0o o | .
1 o -=-2.63 -—11.23- — 1.2 .84+ ’
‘ -—22.46 - | 8 X ) .88 HOLES
-—15.94——- - 24.06 - —18.00—8.56 4 X .88 SLOTS ]é:\(l %;]] 3 HI?IC_ZES
16 X ©1.13HOLES | G END: ' 2X ©1.00 HOLES | 2471 ' -—16.56— ON(21.00B.C. L B
ON ©$21.25B.C. ANSIB16] TYTON END: MJ END: ANSIB16.1
CLASS 125 | AWWA C111 ' ANSI A21.11 -
AWWA C110 | | AWWA C110
| mn
16" C515 MJ X MJ 16" C515 MJ X TAP
- — ' - - |
14.84 ‘ i 06 60 i 1 4.84j ‘ 26.69 ‘
T " = | | |
5 16.84 I ’ H D 22.50— P —©23.50
g — 2250 | 1684 | N 7%\\®<
ol 1 | N {1\
I} | Il |
i 11.25 11.75 [} 11.25 &i }%
L : \ - ‘ ‘ "_/— : L | ‘ \®\ 5
| | —+—/ —D16.92RF
-8 95 R F—- cs | BXD.88HOLES k
—17.00——- L L ' 4 X .88 SLOTS 16 X ¢ 1.06 HOLES
| " lgo5-.gs5g . ON®21.00B.C. ON (21.25B.C.
8 X .88 HOLES ANSI A21.11 1681 MJ END: FLG END:
4 X .88 SLOTS AWWA C111 . - ' ANSIAZT. 11 ANSI B16.1
R AWWA C110
—ow.
i;ﬁif; FRACTONS: ;:?;@235 :ﬂ TTTTTTTTTTT 16" C515 OS&Y GEARED RESILIENT mwz:i
2 Srace s, 125 — LBS MVXEEG?ZATE VALZEZ NN :,) - D




c | D | E | F | G | H | J K L | M | N | o | 3 | Q | R s T u v

BEVEL GEAR WITH OPERATING NUT SPUR GEAR WITH OPERATING NUT

-—10.37——
-—8.01—

~—9 47—+

[T L T L T LT LTI

76.30
CLOSED

T T T T T T T T T T LT N

[ L O LTI

' 76.30 OPEN

[} 1-260+-0082

————— ——————— —

59.73 | |

OPEN

|

" '\\\\\'\\Y\Y\'\\'\\\\'\‘\\‘\\'\'\\'\\'\\“\‘\\\'\\Y\'\\'\'\'\\\\T\Y\\'W\'\\'\\'\‘\\\\'\'\\\\'\\'\“

55.34 59.16 59.73 CLOSED

65.26

J | N
[ 1] 1Ml
T T I T
. 16
ﬁ =T T | |
33.72 |
' i N
1] i i \\
[ VY 7 Iy 1 Iy {11 [T 1N (T 1
r T AS! IR, 7 T 11 {T T | Il 11 \ \ ]
| | | | Y 131
: ] | |

20

THIRD ANGLE PROJECTION. PROPERTY OF MCWANE CORPORATION. i i
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41 fAL(%\;/ASEEELCSOARTD%E/E%‘gE}\//\EI\I%OIT%gCJAEFSTET)iAAT‘R%EI ARE PROPRIETARY TO
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED. DESTRUCTION REQUIRED UPON COMPLETION OF DIRECTED USE UNLESS [ REERENCE (EVIION CL\J‘W
CASTING TOLERANCES MACHINED DIMENSIONS OTHERWISE ARRANGED.  ALL RIGHTS RESERVED. E VALVE CO)
0-4" +1/32" MATERIAL DESCRIPTION WAL L .
e T aes DECIMALS: +0.005 N
e o | macrons: s 1ves 16" C515 OS&Y GEARED RESILIENT
-12": * " ANGLE: £1° ESTIMATED WEIGHT SHEET SIZE
1218 +3/32° | SURFACEFINISH: 125 yin LBS.| WEDGE GATE VALVE 2
. RADII: 1/8" .
18-UP": +1/8 SHEET OF
MIN RADILS: e DRW BY: DATE DRAWN: _JCHK. BY CHK DATE: SHEET SCALE 5 SO\FSTWAIR'EC;SED << 2018 SP2
MIN DRAFT: 20 CW 12/4/2020 . olidworks 6




BEVEL GEAR WITH HANDWHEEL

~——12.68—

SPUR GEAR WITH OPERATING NUT

- 13.92—
-——8.01—

HHA A

(Y

ML

HHHL

76.30
OPEN

HH A H Y

70.91 5

AL

~

I R R AL U U R U U T UL
[ O O o T T L T L L L U T T AL

FUAUHL

l-iJ
J
DA

; 76.30
L OPEN

I
]
]

T T T S LU U LA O LU U RS R LTI EAR Y
Ty [ntnniifuannnnnnnhneinnnmineanmiihnnnmm

D\
I III_ m|

\
I

A [-260-0082

—————————

7/ -W—E‘ [-260-0082
| 7 RN

’ 66.81 /| =

(
|

L

(i

{

(08

Y

1_

Prd

\.

I

|

L0

59.73
CLOSED

|

59.16

(i

R R

— 59.73 CLOSED

55.34 - —
. ====
g ! \_-’:——.—!, ) N ;_1-::3
[ I TS T I \ =
tamatll [Zamar! = =
= | B
= | B

[ 16 J | i\

| | -l N

e . lnme] | Zama!

:

33.72

i
]

|—t

—

20

16.84

THIRD ANGLE PROJECTION. PROPERTY OF MCWANE CORPORATION. ik e
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41 ALL MODELS AND DERIVITIVE DOCUMENTATION ARE PROPRIETARY TO i~y
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED DESTRUCTION REQUIRED UPON COMPLETION OF DIRECTED USE UNLESS [ REERENCE REVISION ‘ :l w
CASTING TOLERANGES OTHERWISE ARRANGED. ALL RIGHTS RESERVED. E Y U
MACHINED DIMENSIONS A= LD —

0-4" +1/32" MATERIAL DESCRIPTION A .

g " DECIMALS: +0.005 "
;‘?2;,_ f?ﬁ: RACTONS: 21764 o 16" C515 OS&Y GEARED RESILIENT

S * ANGLE: +1° M SHEET SIZE
12-18" +3/32" SURFACE FINISH: 125 pin LBS WEDGE GATE VALVE 3

18-UP": +1/8" RADII: 1/8"
MslrEJRAD\us- 1?2" DRW BY: DATE DRAWN: _JCHK. BY CHK DATE: SFEET SCALE ] 5 T SHEET OF | )
MIN DRAFT: 2 CwW 12/4/2020 . Solidworks 2018 SP2 6




BARE STEM

76.30 OPEN

-

——t
\%

55.34

59.73 CLOSED
STANDARD FA14

MOUNTING | i\
| — |
33.72 /2 { /2 {
4X @ .69 HOLES 7)1.88 STEM
ON ©5.50B.C.

_—,
U
—-N
1
-

20

16.84

BARE STEM MOUNTING FLG

THIRD ANGLE PROJECTION. PROPERTY OF MCWANE CORPORATION.
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41 ALL MODELS AND DERIVITIVE DOCUMENTATION ARE PROPRIETARY TO
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED. DESTRUCTION REQUIRED UPON COMPLETION OF DIRECTED USE UNLESS [P REFERENCE o [REVISION l
OTHERWISE ARRANGED. ALL RIGHTS RESERVED. E c Yl u H

CASTING TOLERANCES MACHINED DIMENSIONS WA LE LD
0-4": +£1/32" MATERIAL DESCRIPTION = .

8" . DECIMALS: +0.005 "
o e | Rciows fve Lo 16" C515 OS&Y GEARED RESILIENT

e = ANGLE: +1° M SHEET SIZE
12-18™ +3/32" SURFACE FINISH: 125 pin LBS WEDGE GATE VALVE 4

18-UP": +1/8" RADII: 1/8"
Né\llrljRAD\US- W;S [DRW BY: [DATE DRAWN: [CHK. BY (CHK DATE: SHEET SCALE SOFTWARE USED SHEET OF
TN RAF - cw 12/4/2020 1:5 Solidworks 2018 SP2 | 4 D




G H J K P Q R N T U \%
] 1
2 2
° 3
>
- I
| u$‘ / 7\ U \\ \
3 E - |
‘ — L I
4 | .
r I—[
@
° 5
) .
= ] 7]
B b // —
» .
6 7‘ )
~J A
! 7
8 8
NN\ 1
9 h 9
10 10
1 11
T Tt -
Y
12 12
13 N ™
N\
14
N
15 - -
‘)_\ i
16
17
C O a y
18
19
20
[ROUGH PTNO. [FINISHED PT N
THIRD ANGLE PROJECTION. PROPERTY OF MCWANE CORPORATION. |
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41 ALL MODELS AND DERIVITIVE DOCUMENTATION ARE PROPRIETARY TO
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED. DESTRUCTION REQUIRED UPON COMPLETION OF DIRECTED USE UNLESS [ RFFERENCE REVISION CL‘ "w
=] OTHERWISE ARRANGED. ALL RIGHTS RESERVED. E o
CASTING TOLERANCES MACHINED DIMENSIONS VA LVE LD —
0-4"; +1/32" MATERIAL DESCRIPTION [ .
8" . DECIMALS: +0.005
s e | diow e b 16" C515 OS&Y GEARED RESILIENT
e = ANGLE: +1° M SHEET SIZE
2! 12-18" +3/32" SURFACE FINISH: 125 pin LBS WEDGE GATE VALVE 5 21
18-UP": +1/8" RADII: 3 - - - —— = - SHEET OF
MIN RADIUS: e DRW BY: [DATE DRAWN: _ |CHK. BY CHK DATE: FEET SCALE R FTWARE USED
N oA - CwW  |12/4/2020 :5 Solidworks 2018 SP2 | 4




I : I ! I [ I

VALVES CONFORM WITH FOLLOWING
STANDARDS

AWWA C515
NSF 61

LOW ZINC BRASS STEM AND STEM NUT
AVAILABLE

100% DOMESTIC FASTENER AND O-RING
OPTIONS AVAILABLE

OPEN LEFT (COUNTERCLOCKWISE) AND
OPEN RIGHT (CLOCKWISE) OPTIONS
AVAILABLE

TURNS TO OPEN FROM FULLY CLOSED: 104

+/- 5% WITH STANDARD 2:1 BEVEL OR SPUR
GEAR

AWWA MAXIMUM ALLOWABLE CLOSING
TORQUE 250 FT-LBS

OPTIONAL HANDWHEEL CAN BE
SUBSTITUTED FOR STANDARD 2" SQUARE OP
NUTS

*NOTE: STANDARD HANDWHEEL SIZE
CALLED OUT IN PARTS LIST**

MAXIMUM PRESSURE RATING 250 PSI

ITEM NO. COMPONENT QTY. SIZE STANDARD MATERIAL MATERIAL OPTIONS

1 BODY | DUCTILE IRON :

2 WEDGE | EPDM/DUCTILE IRON :

3 COVER | DUCTILE IRON :

4 COVER BUSHING 1 C87850 -

5 SPACER | C87850 -

6 STUFFBOX | DUCTILE IRON :

7 BUSHING 1 C87850 -

8 PACKING GLAND | C87850 -

9 FOLLOWER | DUCTILE IRON :

10 YOKE | DUCTILE IRON :

1 O-RING | #4025 EPDM BUNA-N

12 O-RING | 1463 EPDM BUNA-N

13 GEAR 1

14 OPERATING NUT 1 DUCTILE IRON B8 e w0} 31835 P12
15 COILED SPRING PIN | 1 TOMM X 45MM 302/304 S -

16 STUD 2 5/8"-11 X 3 1/2" 18-8 SS 316 SS

17 HEX NUT 2 5/8"- 11 18-8 SS 316 SS

18 CAPSCREW 4 5/8"- 11 X 2" 18-8 SS 316 SS

19 CAPSCREW 4 7/8"-9 X 3-1/2" 18-8 SS 316 SS
20 HEX NUT 4 7/8"-9 18-8 SS 316 SS
21 CAPSCREW 8 5/8"-11X3 1/4" 18-8 SS 316 SS
22 HEX NUT 8 5/8"- 11 18-8 SS 316 SS
23 PLUG 1 1/2" NPT 18-8 SS 316 SS
24 STEM 1 C 46400 C87600(LOW ZINC), 304SS, 316SS
25 STEM NUT 1 C87850 C87610 (LOW ZINC)
26 O-RING 1 #3025 EPDM BUNA-N
27 COILED SPRING PIN | 1 1/2" X 2-3/4" 302/304 S
28 CAPSCREW 12 3/4"- 10 X 3-3/4" 18-8 SS 316 SS
29 FLAT WASHER 12 3/4" 18-8 SS 316 SS
30 HEX NUT 12 3/4"- 10 18-8 SS 316 SS
3] PACKING 3 BRAIDED FLAX -

2443 | BLS | 02/27/25

2370 | GC | 7/31/24

CW | 1/13/22

CW | 12/4/20

E

D

C -

B - CW | 10/1/21
A

YM

ECN | DR DATE

— "

WALWVE CO.

+1/32" MA

e | rcnons e b 16" C515 OS&Y GEARED RESILIENT
;3/32" ?LIIR%;L\% IIIIIII : 11I2°5 pin " LBS . WEDGE GATE VALVE 6 EEEEEEEEE 21
e SHEET OF

+1/8" RADII:

EEEEEEEEEEEEEEEEEEEEEE

-Ur ) = T [CHK. BY C : D
MIN RADIUS : e cw | 12/4/202 1:5 Solidworks 2018 P2 | 4

MIN DRAFT:




	BODY DIM
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View40
	Drawing View41
	Drawing View42
	Drawing View43
	Drawing View44
	Drawing View45
	Drawing View46
	Drawing View47

	OS&Y OP NUT
	Drawing View14
	Alternate Position7
	Drawing View56
	Alternate Position4

	OS&Y HW
	Drawing View50
	Alternate Position6
	Drawing View57
	Alternate Position5

	OS&Y BARE STEM
	Drawing View15
	Drawing View48
	Drawing View51

	BOM BALLOONED
	Drawing View17
	Section View C-C
	Detail View A (2 : 5)

	BOM MATL LIST

